VVTA IFB 2020-04 BUS STOP SHELTERS AND AMENITIES
ADDENDUM NO. 1

Thursday, June 4, 2020

This addendum is provided to all known prospective proposers for clarification of the subject
Request for Proposal (RFP).

The following are questions received prior to the deadline for questions on Friday, May 29,
2020, at 5:00 PM (PDT) and the responses from VVTA Staff:

Q1: “Will you be offering a call-in option for the pre-bid meeting scheduled for Tuesday May 207?

Al: As you already know, this meeting was canceled. There were some technical difficulties
that VVTA was unable to overcome to allow this meeting to happen. We apologize for any
inconvenience.

Q2: “Is bonding required?”

A2: No

Q3: “When are submittals for approved equals due?”

A3: Please include them with your proposals. The Evaluation Committee will review.

Q4: “...Can you share details about your previous purchases?”

A4: The quantities on the Scope of Work and the Price Form (in Attachment F) include the
guantities VVTA has purchased during the past 5 years.

Q5: “Please share a spec sheet of one of your previously purchased shelters from Tolar so we
can match that product exactly.”

A5: The information requested can be found on the Tolar website.

Q6: “Would you like the shelter to be 3 sided with the front completely left open? Or will it need
to be 4 sided with an opening on one side?”

A6: Please review the IFB package, which includes photos of some of the frequently purchased
shelters by VVTA.

Q7: “Would you like our standard 3" thick panelized sloped roof panel with a 4" overhang? Or

perhaps a hip roof?”

A7: VVTA purchases a variety of Room panels. Please review the IFB package for this
information.

VVTA IFB 2020-04 Page 1 of 4 (Rev. 05/2020)
ADDENDUM NO. 1



VVTA IFB 2020-04 BUS STOP SHELTERS AND AMENITIES
ADDENDUM NO. 1

Q8: “Would you like our standard full-length tempered glass windows on all sides?”

A8: Please review the IFB package for the model of glass frequently purchased by VVTA.
VVTA will review options that are considered equal to what was specified.

Q9: “Will a bench be required along the back wall? Our standard is stainless steel unless you
prefer aluminum or wood?”

Al10: Please review the IFB package to the types of benches VVTA has purchased in the
past.

Q11: “Would you like our standard 7-1/2” air space at the bottom as shown in the attached

info sheet?”

All: Please review the specifications included in the IFB package.

Q12: “Would you like Solar Lighting?”

Al12: VVTA does procure solar lighting when ordering the Bus stop shelters. Please review
the IFB package regarding the specifications.

Q13: “Are you interested in an Ad Panel? Single-sided or Double-sided? Lighted?”

A13: VVTA does currently purchase shelters with or without Ad panels. Most are single-
sided. Please review the IFB package for details.

Q14: *“Would you like a map case?”

Al4: VVTA does purchase map cases, but not as part of this IFB.

Q15: “What type of trash cans smoking/non-smoking receptacles?”

Al5: Please review the specifications.

Q16: “Do you have specs or drawings?”

A16: Drawings and pictures are included with this addendum.

Q17: “The bid sheet, Attachment F pages 3 and 4, lists estimated quantities. Does VVTA
have an estimate regarding how many of each item they may purchase at a
time? These items, in most cases, are made to order and the costs to build one unit is

VVTA IFB 2020-04 Page 2 of 4 (Rev. 05/2020)
ADDENDUM NO. 1



VVTA IFB 2020-04 BUS STOP SHELTERS AND AMENITIES
ADDENDUM NO. 1

significantly more expensive that building multiples such as 3, 6 or 12 of an item. If
these is no direction, the respondents will have to assume a quantity of one when
preparing the bid response.”

Al7: As stated on the Bid form, it states that the quantities are from historical data. VVTA is
currently working with one of our jurisdictions for additional shelters; however, the
guantity has not been finalized. VVTA understands that pricing is sometimes
determined by the quantity ordered; however, VVTA does not know how many shelters it
will order in the future. Please provide pricing based on 1 item per all lines so all
bidders are bidding the same quantity.

Q18: “Thisis a 10 year contract with options. Is our price to be firm for 10 years, or can we
propose adjustments, if any, based on the producers price index issued by the United
Sates Department of labor for Fabricated Structural Metal Products (Series ID WPS107)
or other method.”

A18: VVTA will negotiate a price escalation/de-escalation contract clause with the awarded
bidder.

Q19: “How are freight costs to be addressed in the bid response? It is difficult to add freight to
each item, because in many cases you can transport 3 shelters for the same price as 1
to Hesperia. Are the products to be delivered to VVTA or to your member entities?”

Al19: Freight costs are not being evaluated as part of the bid submission.

Q20: “Scope of Work, Attachment A Page 15 Backed Bench Option-a steel strap bench
(12716) is discussed, but in the bid the bench is described as perforated metal with a
back (14001)...”

A20: For the purpose of this bid, please indicate pricing for the items listed.

Q21: “There is not a lot of description of the PV Stop shown in Attachment F Page 4 Line 18.
We ask VVTA to consider the item described in our attached request.”

A21: VVTA s considering items that are considered “or equal.” These will be evaluated
during the review of bids by staff.

The Public Bid Opening is still scheduled for Thursday, June 11, 2020, at 3:00 PM Pacific Time
at 17150 Smoke Tree Street, Hesperia, CA 92345, Room A104 — The Board Room. Currently,
VVTA does not intend to include a Zoom meeting for this opening. Bidders are not required to
attend. However, if Bidders attend the Bid Opening, VVTA asks that they wear a face covering
and practice Social Distancing during the meeting.

VVTA IFB 2020-04 Page 3 of 4 (Rev. 05/2020)
ADDENDUM NO. 1



VVTA IFB 2020-04 BUS STOP SHELTERS AND AMENITIES
ADDENDUM NO. 1

All other terms and conditions of the IFB remain the same.

As stated in the IFB, all addenda must be acknowledged. Please use Attachment G of the IFB
to acknowledge receipt of this addendum. Failure to acknowledge any addenda to this IFB may
be cause to deem Bidder “Non-Responsive.”

VVTA IFB 2020-04 Page 4 of 4 (Rev. 05/2020)
ADDENDUM NO. 1



LEXAN ROOF PANELS
WHITE

\/SEE DETAIL "B”

ROOF JOINT BAND
FLASHING-1/8"THK ALUM SHEET

1/4” THK ROOF PANELS LEXAN
THERMOCLEAR WHITE

10-2"

ROOF JOINT BAND

ReISIONS

e ey | esoneron

3 APPROVED

5'-10"

1Py

N )
7 2-7"
= AT SEE DETAIL ’A’\
/
~ = END CAP-1/8"
) 5] THK ALUM
I
E=
2 z
W =
% g = PERF SCREEN
: e [ & . .
SEE DETAIL ‘F S 2 37" X 77 1/2
8 S
TWO SIDED % =
ADVERTISING BOX— | S %
<~ =z
J s
o x
[oe]
2
n
o
T
~
A &
7 5/16" A 7 5/16" 3
FB 3/e X112 END FIEVATION E seE DAl o -
ALUM EXTRUSION S e SUPPORT ANCHOR
(@ PC> 3 1727 LEN. FRONT ELEVATION ’ CONNECTION BRACKET-
THREADED STN STL(18-8) ROD 3/4—10 X 12" 3/8” THK STL PL 27 ALUM ANGLE X 37167 THK €061-T6
W/STN STL FULL HEX NUT 3/4-10 (2 EA), CONNECTION BRACKET-
3/4” LOCK WASHER & 3/4" FLAT WASHER SECTION B-B FASCIA BEAM /8" X 11/4"
3/4* DIA INTERNALLY THREADED EXPANSION ANCHOR SCALE:1/8 STEEL ANGLE X125 THK POST

11/4* OD. X 2 3/4* LG ICBO # 2350
ROOF JOINT BAND
ROOF PANEI
FASCIA BEAM- =

ALUM TUBE 6061-T6

SECTION E-E 2 X 4% X 125 WALL
SCALE1/4
REAR SCREEN BOW-ALUM TUBE
SUPPORT ANCHOR 19 X 2° X 125 WALL — feesefiommme ] e,
FB 1/4” THK (2 PLCS)

HEX HEAD BOLT- STN STL 3/8-16 X 2*
2 PLCS>

TEKS #14 X 1 1/4” ¢
SCREEN FRAME

ROOF JOINT BAND
WHITE LEXAN

BOW-ALUM TUBE
1 X 2" X 125 WALL/

DETAIL "B”
SCALE:1 /4

SECTION C-C

SCALE:/4

3161
HEX HEAD BOLT-—

@ PLCS

STEEL TUBE
11/4” SQ. X
125 WALL

CROSS BEAM
11/4"

SCREEN FRAME-STEEL TUBE
SQ. X .125 WALL

| 17/16"
TYP,
-6 7/8"

END ELEVATION

CRI
AL
o

/ \’/SEE DETAIL

T
REAR FASCIA
]
]
3/16
3/16
SCREEN FRAME
B

g

V

DETAIL "E”
SCALE:1 /4

0SS BEAM-—
UM TUBE 6061-T6
X 4° X 125 WALL

CARRIAGE BOLT
fl/B*lS X 3 12"

FASCIA BEAM- ALUM TUBE

STN STL 3/8-16 X 37 — ] 6061-T6
INNER STUB = 7 27 X 47 X 125 WALL
ALUM TUBE 6061-T6 TAMPERPRUF SCREW 7 “—TfF|r o |
5 o s 3/8-16 X 1
X 188 WALL TAMPERPRUF SCREW .
SLOTTED CLIP- 140 w1t 000000
pOsT 1 X 2 X 1/4° 000000
STEEL DETAIL_"C” 000000
SECTION D-D E
SCALE:1/4 000000
CARRIAGE BOLT SCALEL/4 / 00000 16 GA PERFORATED STEEL SHEET
SEE DETAIL “C” SCREEN FRAME-STEEL TUBE
11/47 Q. X .06 WALL
REAR SCREEN
coooo0 - TUBE-STEEL 2 1/2" SQ.
pooooo X 3/16" WALL X 18" LG
000000
poooo SCREEN FRAME-STEEL TUBE
00000 /11/4*3&
00000 X 06 WALL
000000
00000 ALUM TUBE

VIEW—BELOW ROOF PANELS AND BOWS

3/16 ]
FASCIA BEAM-ALUM TUBE 6061—Ts/
2" X 4% X 125 WALL
INNER STUB-.1875 THK
ALUM SHEET X 2” CROSS MEMBER- A
AD BOX 27 X 3' X 125 ALUM TUBE o
i @ PLCS) R
I 0
4 L in J
<
= |0
DETAIL A"
[ SCALE:1/4 [
—l:% HEAD BOLT STN STL
T S 3/8-16 X 3 1/2*
== g ROOF PLAN
/ S

POST-ALUM TUBE 6061-T6
POST-ALUM TUBE 6061-Te 3 SO X 1188
3" SQ X 188

HEX HEAD BOLT STN STL 3/8-16 X 3 1/2" (4 PLCS)

L

o

W

o

o

7/8"

DETAIL "D”
SCALE:1/4

TRASH CAN

GENERAL NOTES:

ALL STRUCTURAL STEEL, UNLESS OTHERVISE
NOTED, SHALL BE ASTM A-36, MINIMUM

YIELD STRENGTH 36,000 PSL

ALL ALUMINUM MEMBERS, UNLESS OTHERWISE
NOTED, SHALL BE OF ALLOY 6063-T5.

ALL HOLES SHALL BE DRILLED OR PUNCHED.
STEEL WELDING SHALL CONFORM TO AMERICAN
WELDING SOCIETY STANDARD DL 1-98.
ELECTRODES SHALL CONFORM TO AWS AS1,
CLASS E70XX,

2 /4

ALUMINUM WELDING SHALL CONFORM
WELDING SOCIETY STANDARD DL 2-97,
ELECTRODES SHALL CONFORM TO AWS/SFA S10
CLASS ER4043

ALL WELDING TO BE DONE AT TOLAR MANUFACTURING
CO. INC. FACILITY.

TO AMERICAN
7.

MIN EMBED
i

POST
/6061—T6
37 SQ X 188 WALL

HEX HEAD BOLT STN STL-
1/2-13 X 3 1/e”

HILTI KWIK BOLT II
/2" X 4 1/e”

SECTION A-A

SCALE:1/4

Tolar Manufacturing Company, Inc
258 Mariah Circle, Corana, CA 92879

DESCRPTON

ELEVATION

DWG— 9’ FLAT AD

CUSTONER/VENDOR,

e | et

VICTOR VALLEY
WG NG,
074-0

0
SE 1 /16 |*F 12/05/08 [N EE




LEXAN ROOF PANELS

RevSioNs

e oo | esenron o | oo

ROOF JOINT BAND WHITE 1000 ROOF JOINT BAND
FLASHING-1/8THK ALUM SHEET SEE DETAIL ‘B
1/4” THK ROOF PANELS LEXAN f S'-10”
THERMOCLEAR WHITE s ‘ =
+ L \ //‘\\/SEE DETAIL “E*
h] ) b
7 / o -
= L pn -
AT SEE DETAIL ‘A A .
I, i
- = END CAP-1/8° - D
— U] THK ALUM
a0 R
* REAR FASCIA BEAM
we =] 5
ECELTEAWIb . & g PERF SCREEN /]
. S 7 37 X 77 1/2°
2 P}
T
& =
g B P16 GA. F
SEE DETAIL “F* o « = SCREEN
] = ON 3/8"
o . -l
o
. 5 ’_>E 3161/
? SCREEN FRAME
N
A ] DETAIL "E”
/\ ! /)\, SCALE:1/4
o N Ll ol
7 5/16" 7 5/16" 3 1 7/16"
2o/ x1ve END ELEVATION : E set v v A . k.
5 1/2 _
@ PC> 3 1/2* LEN SUPPORT ANCHOR ALUM TUBE 6061-T6
' FRONT ELEVATION CONNECTION BRACKET— END ELEVATION 27 X 4° X 125 WALL
THREADED STN STL(18-8) ROD 3/4-10 X 12 3/8" THK STL PL 2% ALUM ANGLE X 3/16" THK 6061-T6 _—
W/STN STL FULL HEX NUT 3/4-10 (2 EA), CONNECTION BRACKET- /
3/4” LOCK WASHER & 3/4” FLAT WASHER SECTION B-B FASCIA BEAM 1/8" X 1 1/4
3/4* DIA INTERNALLY THREADED EXPANSION ANCHOR SCALE:1/8 STEEL ANGLE X .125 THK POST CARRIAGE BOLT

1 1/4* 0D X 2 374" LG ICBO # 2350
ROOF JOINT BAND
ROOF PANEL
FASCIA BEAM-
ALUM TUBE 6061-T6

SECTIONE-E 2" X 4" X 125 WALL
SCALE1/4
| REAR SCREEN BOW-ALUM TUBE
SUPPORT ANCHOR 1 X 2 X 125 WALL — i oo
FB 174" THK (2 PLCS)

HEX HEAD BOLT- STN STL 3/8-16 X 2°
2 PLCS

TEKS #14 X 1 1/4" ¢
SCREEN FRAME

ROOF JOINT BAND
WHITE LEXAN

BOW—-ALUM TUBE
17 X 2" X 125 WALL/

DETAIL "B”
SCALE:1/4

316/

STEEL TUBE
11/4” SQ. X
125 WALL

SCREEN FRAME-STEEL TUBE
1 1/4° SQ. X 125 WALL

HEX HEAD BOLT-

STN STL 3/8-16 X 3

@ PLCS)

INNER STUB
ALUM TUBE 6061-T6 TAMPER%R/%;éCsET{
2 1/2" sQ.
X 188 WALL TAMPERPRUF SCREW

SLOTTED CLIP- 1/4-20 x 1*

POST 1" X 2" X 1/4”
STEEL N
SECTION C-C SECTION D-D %
<l 14 CARRIAGE BOLT SCALE:1/4
SeacE/e SEE DETAIL “C* SCREEN FRAME-STEEL TUBE

11/4" SQ. X .06 WALL

REAR SCREEN
i 10-2" T

1/2-13 X 3 1/2"

FASCIA BEAM- ALUM TUBE

7 6061-T6
X 4

X 125 WALL

16 GA PERFORATED STEEL SHEET

TUBE-STEEL 2 1/2"
X 3/16" WALL X 18°

SCREEN FRAME-STEEL TUBE
/1 1/4" SQ.
X .06 WALL

POST-ALUM TUBE
/6061—T6
37 SQ. X 188 WALL

I HEX HEAD BOLT STN STL-
1/2-13 X 3 /2"
HILTI KWIK BOLT II

172" X 4 1/2"

SQ.
LG

~Ja]

3/16 X
FASCIA BEAM-ALUM TUBE 6061*'%/
2" X 4" X 125 WALL
INNER STUB-.1875 THK
ALUM SHEET X 2° CROSS MEMBER- 7,87
AD BOX 27 X 3" X 125 ALUM TUBE A
i % pLoS 5
i
L L n nyn
0 0 DETAIL D
SCALE:1/4
L \6}/151:
\J\ TRASH CAN
DETAIL “A” GENERAL NOTES:
5CALE.‘T/4 L ALL STRUCTURAL STEEL, UNLESS OTHERWISE
—*\J\ —*\J\ / NOTED, SHALL BE ASTM A-36, MINIMUM ¥
—l:% ROOF LINE YIELD STRENGTH 36,000 PSI 2 14
HEAD BOLT STN STL 2, ALL ALUMINUM MEMBERS, UNLESS OTHERWISE MIN EMBED
et e 3/8-16 X 3 1/2° NOTED, SHALL BE OF ALLOY 6063-TS. i
& Fls ROOF PLAN VIEW—BELOW ROOF PANELS AND BOWS 3 AL LS SHALL 5 BRULED OR PUNCHED
et 4. STEEL WELDING SHALL CONFORM TO AMERICAN
/ \ WELDING SOCIETY STANDARD DL 1-98.

POST-ALUM TUBE 6061-T6

POST-ALUM TUBE 6061-Te 3 S& X 188
37 s X 188

HEX HEAD BOLT STN STL 3/8-16 X 3 1/2" (4 PLCS)

ELECTREIDES SHALL CONFORM TO AWS AS1,
CLASS E7t

s, ALUM]NUM WELD]NG SHALL CONFORM TO AMERICAN
WELDING SOCIETY STANDARD DL 2-97,

ELEETRDDES SHALL CONFORM TO AWS/SFA 510
CLASS ERA(

ALL WELD]NG 'T0 BE DONE AT TOLAR MANUFACTURING
CO. INC. FACILITY.

o

SECTION A-A
SCALEW/4

Tolar Manufacturing Company, Inc
258 Mariah Circle, Corona, CA 92879
SEscRPTOn

ELEVATION DWG— 9’ NON—AD
VICTOR VALLEY

CusTouERAENDOR

SZE [ W

O
SAE 1 /16 [P 12/05/08 [ o




LEXAN ROOF PANELS
WHITE

X/SEE DETAIL “B”

ROOF JOINT BAND

FLASHING-1/8THK ALUM SHEET

1/4” THK ROOF PANELS LEXAN
THERMOCLEAR WHITE

10-2"

SEE DETAIL ’A’\

i

T
S G
o
<

Frpm) ] =

DETAIL "F 2 5

SCALE:1 /4 & I

<<

& i

o =

N 2

n =

SEE DETAIL “F* <+ E
)

> z

@

N

B

o

I

N

7 5/16° 7
FB /8 x 11t END | FVATION E et e v/ A
ALUM EXTRUSION 5 172" SUPPORT ANCHOR

@ PC> 3 1/2" LEN.

THREADED STN STL(18-8) ROD 3/4—10 X 12"
W/STN STL FULL HEX NUT 3/4—10 (2 EA),
3/4" LOCK WASHER & 3/4" FLAT WASHER

3/4* DIA INTERNALLY THREADED EXPANSION ANCHOR
1 174" 0D X 2 374" LG ICBO # 2350

ROOF JOINT BAND

ROOF PANEL

FASCIA BEAM-

ALUM TUBE 6061-T6

SECTION E-E 2" X 4% X 125 WALL
SCALEL/4
REAR SCREEN BOW-ALUM TUBE
SUPPORT ANCHIR P X 20 X 125 WALL — Teeionnmnnn
FB 1/4" THK (@ PLCS)

HEAD BOLT- STN STL 3/8-16 X 2“
(@ PLCS>
SCREEN FRAME

HEX

TEKS #14 X 1 1/47
RODF JOINT BAND
WHITE LEXAN\\

ko e
Bov-aLuM TUBE T *) DLIALL_ B
" SCALE:1/4
17 X 27 X 125 WALL/ /
3/16
FASCIA BEAM-ALUM TUBE 606146/
27 X 4 X 125 WALL

INNER STUB-.1875 THK
ALUM SHEET X 2" CROSS MEMBER-
2" X 3" X 125 ALUM TUBE

AD BOX
V @ PLCS)

\6,3/1 o/

DETAIL "A"

[ SCALE:1/4 [
HEX HEAD BOLT STN STL
— 3/8-16 X 3 1/2"

4 PLCS

N

POST-ALUM TUBE 6061-T6
POST-ALUM TUBE 6061-Te o SO X 188
3 SQ. X 188

HEX HEAD BOLT STN STL 3/8-16 X 3 1/2" (4 PLCS)

3/8” THK STL PL

SECTION B-B
SCALENL/8

FRONT ELEVATION

2" ALUM ANGLE X 3/16"

CONNECTION BRACKET-—

ROOF JOINT BAND

RevsioNs

DESoRPTION o APPROVED

END CAP-1/8"
THK ALUM

| prarys .
‘ r*’c
\ ] \\/SEE DETAIL “E”
\\ K
2-7 L ‘c
REAR FASCIA BEAM

THK 6061-T6

PERF SCREEN
159/16"X 77 1/2*

7 5/16°3

END ELEVATION

SCALE:1/4
o oly
", CROSS BEAM-
Lal 7/16—‘ ALUM TUBE 6061-T6
2 X 4" X 125 WALL

CONNECTION BRACKET- M /
FASCIA BEAM /8" X 11/4"
STEEL ANGLE X 125 THK posT
CARRIAGE BOLT
e CROSS BEAM SCREEN FRAME-STEEL TUBE (1513 X 3 12
3/18 1174 SQ X 125 WALL
HEX HEAD BOLT- FASCIA BEAM- ALUM TUSE
7777777 STN STL 3/8-16 X 3” 7 061-T6
@ PLCS) INNER STUB . 2 X 4" X 125 WALL
ALUM TUBE 6061-T6 TAMPERPRUF SCREW
STEEL TUBE 2 1/2" SQ. @ \@_‘7 3/8-16 X 1 n
,,,,,,,,, 11/4" sa x X 188 WALL N\ TAMPERPRUF SCREW
SLOTTED CLIP- 1 4eo0 s 1 00000
125 WALL e N SLOYTED GRS x
STEEL "c”
SECTION C-C SECTION D-D S
SCALEL/4 CARRIAGE BOLT SEE DETAIL “C* SCREEN FRAME-STEEL TUBE 16 GA PERFORATED STEEL SHEET

e

REAR SCREEN
10-2"

1 1/4” SR X .06 WALL

ROOF PLAN

VIEW—BELOW ROOF PANELS AND BOWS

DETAIL_"D”

SCALE:1/4

GENERAL NOTES:

TUBE-STEEL 2 1/2"
X 3/16" WALL X 18*

SCREEN FRAME-STEEL TUBE
/1 1/4" S0,

X 06 WALL

POST-ALUM TUBE
/6061*'(6

3% S@ X 188 WALL

I HEX HEAD BOLT STN STL-
1/2-13 X 3 /2"

HILTI KWIK BDLT 11
172" X

Nej
LG

~ o]

L ALL STRUCTURAL STEEL, UNLESS OTHERWISE
NOTED, SHALL BE ASTM A-36, MINIMUM ¥
YIELD STRENGTH 36,000 PSI 2 1/47

2, ALL ALUMINUM MEMBERS, UNLESS OTHERWISE MIN EMBED
NOTED, SHALL BE OF ALLOY 6063-TS.
3, ALL HOLES SHALL BE DRILLED OR PUNCHED,
4. STEEL WELDING SHALL CONFORM TO AMERICAN
WELDING SOCIETY STANDARD DL 1-98.
ELECTRODES SHALL CONFORM TO AWS AS.L,
CLASS E70XX,
5. ALUMINUM WELDING SHALL CONFORM TO AMERICAN
WELDING SOCIETY STANDARD Di, 2-97.
ELEETRDDES SHALL CONFORM TO AWS/SFA S10
CLASS ER4
6 A VECDING T0 BE DONE AT TOLAR MANUFACTURING
CO. INC. FACILITY,

SECTION A-A
SCALEN/4

Tolar Manufacturing Company, Inc
258 Mariah Circle, Corona, CA 92879

TERCAFTON

ELEVATION DWG— 9’ NON—AD
VICTOR VALLEY

0075 OO
SNE 1 /76 [ 12/05/08 [T o

CUSTOMERAENDOR,

S [




=
=
’ I
i
i
.
i
-

P
-y
gl

.

M
a
-
-
"
F
]
"
o
F]
W
[ 8 &

%

-

.

]
l'i
L. ”

£

e

L )

T
e
<=
-
-
--_-.-:._
J—LI._H_"-
)
g N g
L -
ol e
- - .‘-I-- ‘& .'.-
il g i g
R, b
-d'-a-.'—‘-r - _._-:." o
i e L
L et
1‘_._.:‘_-'_ .I_r-h_-—_p-:u' wy
L e IHh__..
it A T
e et taaseatarat
. : . !
bl ..:'. Y ._""__--_.-—; ,_i..-"-.'{.".
g ey Ll
by _-l—nn.r_r r_-‘..i-- - i -—
g Ty -
L M
e g
e b
| Ty '
-
He
L
'L—'--_
e
| ST
T
| o | i
"
. i

BE LTI T
L3 L L
L

-

.
1) r | - .‘ s
- f-: -‘ .
"
-
5
e
o
8 -
. i
I 24
L l-.
i . -
iy , %
. ¥
i ! '} I, £
E r - v .p‘.l . a,
- ’ i :
-
; :
It | Lo & b
: { !
] p
. ; ]

iy - & : . b | - {
B
K " L -E'l:.- "
| ¥ 3 e g Wl L
# ¥ i W
[} -:-
* i .
¥ 3 4 .
F * L} 4 »
¥ B - *3
.":.." Jlr::ll II..I'. r
et sl il Rk r'r 1
L !
:. ,._."',-'r e ot
} ; P T L}
i 4 I e T T fa
. I:':-'r- |"l'lrI :
¥ X o ' :
M e T e e
PR e R RO
[P e AT L el
SO i G
.'rr:-'r-l"r+l.|'rhr-- i p
=l
."|J|'|r:‘|l'. Sl I"r.'a',:Illr
.]'_.-'.-u-.--_-'.l.-;r i
Fareet il Ly
et el el et el et R el et e
bR T R
Sl gt ol et AL e el e R
A B
ety . i i
F el bl el L .."-
o e d by i et
L e
HOF e |I.|'|'rl;']"_.FJ' —w +
It :
e e T
3 [ & F
j‘:_llf_l A
' .|-|
.';"',r:'
W {. =1
i L
e
o il
-_I "
-
"
H
1
o4
i
| L
. .lu"u_ a
:* =
fl
e e
i - iy I
f -
| E lF -
i -
= PR *
f -.
| =
| ] v g
A

o
;_II-J v =T p
" aLi!
o i e
jpaasaras
_‘I.f_.,-::-'n- !
e Rt L
= =
Y k
45 14
Tk }
b
[T ]
e
. f
3
b4
fa
)
i
o
-:.l—rrl'-
B
" 5
42
e
e
™ i

' - .
Nl . S T
"-\-T-'
- |

X

3 Bl
et A
d » J E - &
o -"'i{l.',': Fay
FE™ a al " L '
R S R g L b W
$ 1 'r-.--"'l ) il | FIJ
{net ot
Lot
g
= 4 il
s
N

5

- L ]
:’: J:':
- il
1)
.‘l

4

¥
TEELEL,
ganid i

]
papaa ek
TR
'TEE

W
n

L
il Ay ; L
FRRgEAES

amEdF

[]
TR LA

L ¥
e b g 0P
TELL R

il
L r
o
L} - .
5y ] ’
b — = o —_—

L i .
Il-l‘ .
5 }"._. I
L - h
ke il
o o
..- p\.-'.
i ey 1 |
.
)

et Yy

s "y

T

I s

o i o
whaTatele o
L

amkiE
canaRbinE
i ]

P L L AR
gunaddsne




3.-
T

il

25

-—
e .

R

|

|

28
|=:
f

k
- f

i
{
? ]
¥
f
§
-i:-':'l{{'&.'&

o

0
.I. -
e ™
|}

F |

oy !
% > TS e

|
e
e

o
%
i
H
i
|
7
7

f

$

T

1

|
5

el
:I
|
£:|
;
7

4 ey

A

_ % g A = . .

3 - e | ] v | ] e .

W ' . At L T ey i VS e v
LT L} - T x et bt ko -
. Y _ ’ 7 1 B }*:_ﬁ'ﬂ".ﬁh-—.ﬂ;ﬂ:ﬁt = :
r.r_ &AL i [ 1 v y A -u-u-I.I.I]Jm“‘-J- s Y o ; y

; RS . ‘" 11 r m 8 s, ]
- e R e S - |
I ¥ . . -
_ § . '-I_-h_.

i
B : ¥ Biks . o H
| : L : =rs TT""“““"“‘*—“H“-‘I‘ b ey e .
e | ] .
v " [ S -
' ; hﬁ‘ ' D e

eeeien

T
| H SR ¥
f D e e o e o
- i - i ] ol A ITITS T
e aeetsiovanels A A - :
| 5 . T i H "
Y et A LAl i A -
| _:Cl..-ln I I ""iln_ v E
: okl Ll don ui
' SR l\.:'.
¥ i LR s -
ol Ak LT oA E TR L ,ad - 'r"' ||r .
why Rt
‘. m I......._aln.._u......l..__l 4 ok Ll 1
] s LIl b 11T I
1 - & e, Ayt o bl L STLLLL
Lk 0 o L i e Al i
. =
5 - 8
¥ .
Tl x p ol -
!
TEE LRl LL a
" B g i "
L s I R
SLLL s - e erre.ss. AR iy wi o y * e Lot ik - - b
i ke & v W TEEL S L Jlrl. :1:‘- + |=II"_L";‘._|. .
b 1T TLE
s i “-,'I,-' “1'rl-'r J‘.]‘.J‘I-I1l:ll:l.l.t X - R R .r.l1 1
JlJ_I: 1|r|"' — A, T Py W |:|.|||||.|.|“. ||‘ S ey 1 L
I bl v e ;e g e v A iy p =
“ - T Lo L b by e e ik b X
. - i - L
s
s ! e =
'
d
By s i m : ;
- = ¥ k y
§ e b . .
+ i e . t e " . -
- -_1._. - . -." I‘\' :- i—"l-.__ ' . H L
- s E
. e ? o W i, & Wy
r?- -.?—- -
-3 ] t
¥ .
& R [
¥ " - a7 .
=
‘. 5
‘
= '
v
-
=
|
|
a
T
e
o, -
. .il.“ . & -‘. - z
| ﬁ
s -
¥ -
| -
I* - 8
k T “ .
[
.l"- . '} :
& 1" L
i ey 8

= . -
- - a ¥ ;
X . _
F ’ i _'-_ 5 A .’_‘_T e e - = - S R i - == 2 P -1__'-_ EgT =
w - . - .
-
- E r *. -l i r
! ) . = | o Pl i B . T —_— = . . . = - - e = _ B T 1, L 1
L= - o
. _ £ 1.4 ' =
' 5
"

g " ama r——— i g 2




B
i |
i
W F
i
F &
.-'l' F
Sl ¥
&
i &
=l
o
s &
s
- r f i
} " # e

'r'l 'F' L

L
rer

FEFF Ty p

me e T N

"
e
4
I‘_rr
o
¥ L8 gy T L L
v b s e L
e o N
Y i 'I' &
s e = .
o " yT
(] '| g
.: . b BN
iy
.
o
.I
iy
¥
. M
/
’
. ;
.
i
i
/
o
L '} 4
§
. i
r I % [® L)
F i Sl
" _.ll r

S T

s

& ""‘
A AhE
"-‘.I'IL ’ LK
s

A
.
A
A
S
A

-,-J!.-

b d b
=

[ 8

Y,
b L%
A
h
LR
-
k
L]
k
i .
L]
\
y
k
Y
ar
A
k L

e
AT
'Ll‘__.'. :F.
TLL

i

i rh
_I. ]
.;.l"tjr"x

.|.1|'|,:|
QL
5L f_.l... '
b g 48
...f # "a': j;'i%;]“ |':!.|_I,I'
.I' R R LY S X R
0% X 0 R ST
# .“r’}- | .u.l 'Jﬂ:'n‘-:l‘l.f ¥ A
_L. | _":"j:ul;“ e h L, L3 F A T
_.'j’ 4 : X X e R AR RN R AR T -rI 13 ":";;r:"':‘*"'|“:]'|-:l LRI LIS ';'U'* r fullf'a'bﬂ" i
v AR AL LAl ¥ 1T XTI RIS NN | L v 1 1 A kL ] it
e .HJ'."':T' 'Ir"ﬁ"rl J'“I "'“;'“J"J"'-'l.u" " BEACRAY SRECorsRueny :"J " "‘“"'“1"‘;""1“' :|r|J.|"|'I‘1 OT L LY I '1:-'1“” I-I .ll:r.-"'“"J ‘ﬂ:‘u '-I:rl'f'r rr]]rll'l JITI:"E'II L "‘I-"L‘ 'r:'i ¢L .:ihi_r"l'.-' r: i 'Ii'J :
L g ag TIFT I, T L XY L LG, O O 'II':"‘H_djl e Y e
LR T L R i S LAk A LR LA LT A L A A |:,,":T“-""'L:' 'j"‘.:-'x'ﬁ 'f,_f“fl '“f'tr...f.uj, .'J] ’“‘1: Jln'lt‘rr:r i‘,rjl1llln.:‘:|].|"j1 J:: e :‘.Ilr:':- Ll II_.Ij;l L‘,“,H".‘.,.,_-:;;;fﬁ,",. y
| ...-I_.-. N .-I.-I..-I -.I.-l...-...--... 4, ’ 4 d s ¥ 1 T . ¥4 11X] . [ ] i | | | 1] il = o 5L 5 ¥ i i
(o I AR R A L GO E X L (g EX LGOI s can e nere "L]'..'rulrr*.l J’n'::_"rhl?"r:“'::'rrul. rJ-‘rrl'-:,:n'WII::FIJIIIJELIS:',‘,'F'"’P: __;fﬁ: J':t':a::'l It":-f':;l"illf,‘l,ll,’;"":ltf? "'! '-‘-’;‘-HHI:‘-'J":'. i
4 PEad PR E R wesreree '|I__|_|rl..-|I N LT LT LI LEEN ! 1 . ) ; CLIT Rl TN B R 1
J | T | I 1111 TELI K LITTRT I r: . LR L1 L1 FE . | LN a i r
# sRevEssssatERTS 2 I I:.:-. f‘."_.‘_',:.:'.r_.:|;-_l:-':4|.‘|l':.:, "'IIJI‘r:Jt .rl'IL'J'r"IT:rI1.-:' 'I.lllr|| "E . : ‘:-:'J'.-I-::” |'I!|'[1[;.I'I.l. :((“.;;}'r:'l | :I'f;r‘!i"'.l r.!'rlr-,li,lj'rl.lJ ill-:'llllllll-.a' |]':l!!.l"-'l:1r I':'r LLELE
b e ol gl AA 1 ] d Akl L . 1 gt o 4 L r1.1 . :r L L LALE BAKBER ‘
| L L LT r . L Y X T T Ry ] LLLELE | BEEAE A J'I:I{l LLI T Irf -
] LI LI e ] L) i IELTLX I I 1 i 4 i I 4 : "I" .
TR R B _-|J-‘1.:_‘;'.'1 .‘uf.'."Ji'-"J:L LI, ’Jullr.’T'J A F11'. ."f'.lrjr-J:'I”‘.-:u--J-:*Jj r1'?IJ‘;131rr:r'| LA Ty 'rjr-l"r’ﬁ_:f"l.;'r".lu- XL '-.,T L
L L LT sreseres W LY ALILEEILTTELL _Il_ll.lln._IIJ.IlJ e, r ,-_]_rIJI:JI_;I"'Il,_IfuIl.'rI :I_Jl iI ll"llrrﬁj!l.:! iI‘Fr'r.n I'J.illll.rla.ll_lJI JEEAL haiX I'_,J-" e ,',rl., .']' "" ”" r;"|
bl A n gk ...-I..-: ‘|..|.|.lll..4...-|. .:. .. - 55 i | i | ’ Il.\:a |.a_| ._n.u. ! 4 A | '|_: .- ’ ; o b ¥ 1 A '-
TR e e e iy ALY DA _‘:;.J..l ;-:‘.'r.’u ‘f"' II:J_JF.I {: I,: I_jl,mlr.-_.; .l’.I.-. o L1 ..r}'r'1' e oo I'III::'J-'.P’J;HI""J:,'-.' ":’-’;E:"-kljl*f.l:f . .1.".. 5 H “x',*.r‘,*,.,‘\. e ,*'13 ﬂ“*.lle]() ”r E,Ii
wd bl | i 1 LA Joi i --..----..u.--| 1 ..|r|‘ i rl '||' - W L LI L RN ] H . .
AEEERES . LiELILALEL, LELL] TALCRF AL LR L] L1} LLLK : | WA Em B R r '“' -"lI LE L '.I-l'_,.l'l”' Ll-- .- 1
J ._. I.- LA oo I .:.:-:u: IJ::rrljal|IJJ|.1:-'_-!,"-':-".1' o I..I:-Ir.” 1.'!":‘:-‘;'.":']_'_-: Jlj‘:l II'I..I"I"-I'rl._l!I ""'Ir{rrnnji:frlir."r"'r' II'I'I-IJ |rlr>l : -'-_: I‘I-I l' _:fll_.:rhl'llllJ I' l‘rl. Iy'..ul.r: . b : .ltllh
1 -'Il ----- h %, F AT 4L I £l ko B 4 00 8 4 ] 115 1 X I A T I" L l | 1 .
— u.n.-....-.u-r-uunu- _pn-u nmn#ﬂuq :;ut-l-i-ninﬂ--"t“-t juhh .lmn“‘!t{‘:'{!fﬂﬂ\?"ﬁﬂ:ﬁ#p.1i.‘: j""-"-“-. Wy ““"l ﬁ“‘-‘."“"“qﬁh 11 T‘“*‘“‘A w.- i
-.npp-nq-|-|-|1-|.|Lj.1r1'|1--n|--r1-.--| \:} -ln---r H-H"I-'l-l-l.'l.r'll erI‘H PR e ol jt-l-.h.'ru.”t”.n-”_l 1 ||,1'q.|q,1q““""“.ghﬂ_1 ““L.i!i‘*‘-.|ﬂ-|_1f . i ‘..|||j i-rlll'iilll jiiﬁﬁii‘liltll'l'}”l]'ql
y { ; ey U R e e i : B - i
Aphdd bdd sl -'-:-l.--'..l--'l.---'-.'.--'I. ] ...I.-J-l- "I II.'Ii'aI-.a'I'I.lI-'Ill"I .ll'-l'.lnjl|iJ‘|.l L] I:I:-liIII"II'JIJIIIIIILI. .I'Il"ll LTI T LTS 4"' : ITJ"' I"-"I".'IIJ"‘I"‘l “ ! "‘l‘t- "'r"lll' L : -_-I-II----.».-_JI-.".. i lHl‘&
i . o = o 1 .'I. aan_n UL L -I i i- ||J- Y .II.|-|I|J r-l.I II |ﬁall. | | hlll||ll.l:- I!‘LJ '-.II'IJ'|J|I-':|.II,| JIII |.I| llrllrr I.!I ifrlllllqr pr'..:lrlj-l|r r. ||!-'l:|I |. J~|l|-:|'| rrrl..ll'l_l'll ] 4 ‘.,1:‘ LY 'I"l'l: LI . "I 'y 1L I‘-| I":I I:‘|" "'I "
# f i Lig A LI LT ..“__..- I Il-.‘.”I v A AR L LA X L L E R III'-.|I"'I-.I.II1'J|||'I_|I -‘f”,;'ﬂ.',',l",’,‘:,'r" II-' II!.II 'y II I..rIJ I.| | | f AL R 'rL|IJJ1I1|l|.|‘1h ||. j.I_I-L'IIHJJ'J,FIIIP.F" "11L[r Lll]l
LIt Ll g L et [ I .\L' I"‘J d Ll jll BRI LER I TI Jlu-all.lll |'- l. r-ll.l-il|"r|-||. '.'..' L I1"!""‘ |1_| LALS i i 1 'i 'i‘ LIILTNAL LT
j ) FREFaadcri e upmanny & Bp8 Lidd I IERT] i | ] T T LT T |-||:-|r.|| s'r-’""-.-”,“”" -] L f] """"""'- b Lo LILALLLLY
X Ly Jbd -.{ i ‘,r ,’_"J, I "1'|-'IJ:III"r-__.-I:II 5’1'-:'-'-"':; u'J‘ ,-rl:_l_:l; |,_I|.I,il_:|:ll e £ !;l:i:. .i.:.'.r'.’1'i]|' |.|.|| JJ.,J.]_.I:_l[rL'I ]I. .Lr'lﬂ_“uuufﬁ'r
: iddl P EREFRA R ] ”IH_IIJ ||'.]'|'-I.l_lrl-'llli|l-." -|:r.-|." b RN A ERY | 1:1'|'”|:HIH ) nr LA LL
g RO et It ereey ¥ -*r.-'.'.-l A A L A L X s L r sy vl y Y x 1 01 . e ' L A b :fl“'”'-.' ""l‘*'r“ il
; A X A e A A T XN T P i T 0 T T 1K LTI - '[II L L
; . EILId rvereesey { ] pye o LT Ty s e R T IRy A '-" . :"'" ' ‘ & A A Y AT
. ; Al ] S AITTININE O 'p|_|'".r BB &N y L 'l % ' '-""'". AL '|r|.\_1|L
3 1 i : Adptdld b d Aol AT ¥ LXEL LI TNy WA 1} . k| y '-I' i Ill-ll-_ll j"'l-\,_l_..llu X i e
p il SR AR _'1- |I_.II_|.1_.I_|_I| 'r"r-':‘r rrnl-'u'ljr-—l_.'.:f,’ -|I.r--'r|-.l|-'| I:I'"'|| ' Irl-:'.lr Jl::rI :I:]: o ‘1‘11'«' .I-.b:lr.lll I.I.Jiilqp-.rnr_t“ .I.I.I!r.ll-._ll.li.II,I:J. |"|.' ;{: :III‘L'I:__*;:'L"":J-ﬁ"
ST iL 1) BEAO A RE DA RN R8N Pl g : : s
.:I. IrITTs ¥ ) -h-;l |‘I..I | ..'_ .t I"rl| J_:'Ir-_r'|l_|r||l1 |'|I:|_:|r_|‘|1|_lr'|].-"1-|‘|, ?r-'l_l'fr.-l.q"?-ll'l-, _Ill'rlI _I : ‘I"I.'I:I|ITJ ill.' -'.I-I:"'li'l-lfllqlllllil} I-j|';L!|‘I|_|.IrL1|.'|_1:!p'rI :l:clljll.':ri
R e Ll 5 ik LLLET M ; SRR B agEidagnN ] i ] L L L L1
y Jd ! l-I_ i J A .-"ll 4 :u..-.ll J, "I :. 'Ir'rlrrl.'. :-.I' rvl_sl ' _I'I|| I|-I|I|'Irrj|p.|'r..|r_r'l'l'|", .lll,"l.'lll-'l'{l :l._ll-rll‘}]lll ey |i'IJIi| |Ii'l.llllll-l'l-|llI 'l"|~|l. Li1 'i i:']'-,"|'| |_|_'|'I|_' .':.]
L T Y L DAl EAERL ) I '...r Il‘j'rl‘ll-‘lj_l'll'll:l:rl -I-IIIr ' 4|r1llrl1l|,|' r.l'-':frtl ]. I"'II‘-“;'ll' JI:II.':qu.II-I'-j I -|||1:.|rlll1‘|'ll1rl.lul-l|l.ll__' ','.""r.' r.'l'-l.l'."n';'f '::-;,l_:. "-"J'|'-|'|".r"-“'.';-|
o daman AR iy, cfrERy i1 .""'-""JF"-‘ L L Y Yk F AN XA N F AT o D™ AT ] RS LLLER N LET N L L L i L T T v el
- IJ. - Il- I'._-":I'_l | I_II _JI IJ.-\.., !;l-l..la: ]'I I'I At bl L L Jrl.r‘l..-l IJ:‘ » 11]_' ||].=IJ|II'1 :I:I _IIr:Ir_:'|ri'l:l-':||'l|‘lr:.l:1.l'l:’j- :t: J 1. .1.‘;- J.u. :..llrl.ll.|':l..l li.:lll'l'ln I..:J-‘ i |l'|:'1"l i l.| L) Ia ""l'r
ad LI LT dad il s IR N IR EYX TN NIl \ ; L R oy R LT LAY . L LT
Ptk L Y Y L R Ly _I’p: ”'Illl'rl:l.lu”erTrr"lrll.lir”:F“rrI I'rrT_rr HF'I’I'J'-"III.I'- e '-!‘ ‘.‘l' Ok |lI Y ‘F‘.lf"r ‘."l‘.l"l-. L L ALl
y FEA GEEE dad A S bAoA .-' ] TLTLr LT R R T RET. LI LT LA L] 15 0 A T e L T
1 y L LS L JIL I'Ir LY T I Ry LEEIR N Y e R e N P LI L LRy i
; a 7 'I.I' o d i .-I ..---."!.'l.- LLLNY "'-'-'-"-'Jl.l L |i.---_| || K At II'JI-'I ﬁ'ln' |'-'. ?' |II 1|lr |IIIJ‘J'.IlrrrTlllll -II'|fIrrll]'Irj.rll.'.l'lll...'.pllrH-H.l'll ] i'r‘-|‘ ﬁl:""!."tl.:‘lrlf -.q:hl:l-llll‘l.liI .'|||ll-\.‘?-lll|| 4 :'I'HIJ.IJI
{ OV dvdeneided L J,,.._l,,r...”” A “'.J."u'".--.l'r_n'.l" r"l"""' “IIHIIirlfrf”rf-"‘-"';.'I”f Spisnacs e “'”J,.-'Irllll""'g'-'- .': ) P A R et AR S LXLE III-":'_:_' ,I_,H,__ Ll 1.-__?’
Xy Y L L L L L iy | A R Ty L L L LT |,' N g
r ; L 1 1N i L) L1l Y L‘ L i "
. i LU LS -l'1' F e
y A
L : ‘ s -' q"f"r"'-
' . 5 o F P - Ta B K F ’ = Y
L P i P | 7 - - o - - P ¥ - ' - i L s i J| T
: j . YV ; & T ETFEE LR R YA A VY e e B A LRTCLE S ), T
2 i i i 0 E s kT . ] ¥ ' N i w P A L L a--:"" A mw
E Ol . # J f i F f T ¥
. J F e B iJ ¥ Y e , il R T TF O L = |T.- £ , 1 o AL LT
F Ll 1 4 ’ ; L : { " Al | | I -l”i"
b - j .I % f o "' i f dl v X ¥
. > i i - o = | 'S L ] |I |‘ i I iR ll_| I| il ] Hh.ii:'i "Il..I
i [ I IR Ty f v 4 ; i
‘ I f e 0y 'rl A b1 A J‘ffr'lllr'l“":i-
LR % 1:1"' 5
| | 1 { * Il.ll
i i 1 q : ""-.'. 5}‘” Ll
| 5 i "} ik L M .1
i 4 i W | ¥ r '1. 5 ' ‘o ""1' 'E‘;I.:?".' I I:'.Ii'l'
Fal ", ! o LI e
. JE. ™ i . l:“ ]
f L LT TR ey i
1] IJ.ILII JF-"L"
: L-ﬁ;ﬁﬁﬁ :
" e
‘«.'-‘-,-.-d.‘;
L]
K g i 1 |
SUCEE N ok
[ LY s . 1LY
] i
1
|.
rIl'll
I 1__'
rE )
i 11$'II | g
. 1
1
l
o
L
|
d’ i
o
?‘ :
.

i -y
B
10 ad




Lihikas
L A
LR wly

e
. 1\311'1 fnh Y !1-.
SR s
e h k] &
- ‘L Y i L1 AR
: N B e
Ay _1.'1.': e ; Sk anam : LR .8 UL L :“5:‘1"1:‘1'1.‘11”1_11;:1::1'3#7‘:# AR Y L
QAR n -
ol t,‘-: 5 { L | TLLL f ! ¥
j‘mbh \ ":.Iﬁ. iﬁk\&:“l{.}‘%ﬁ\ Ll‘\ .):;%:1 e \L::'r'-‘ 1‘1:‘3]1{:“.%%7\. I"'\E:{n 1% .
RALITTIIYY L] . Y
A AN Y l@au‘a R
- X
. 4 J |"J : s
bt f ‘,”‘ .“‘ ' ;: ) r‘il 4o '
T
'
» =
4 . ’ X
= -
1
<. .
F
e
o ; e

KL LA
¥ .'I'IIJZITIII:I.I:I i ¥

ll_]:ll'l'i]rtll .I.F
Fl'tr'lilllllr'lrl.ll'l E
TIRNNELE R

L
PAEEl R EL LR
L
LAY rl'[‘ll{.l“'l!-lltili
L
11T IR
'IHI"I!IIII.I]!
TTIRNNELERENLER
||!rl-lll[lllll[:'llrl L¥
L
TIAELLELELE LI
TELERELLE N IK

.
LITEEN .Iltlllllltllii.ll .l..‘_lli.'.]i.rl )
BB R AR RERER AT

TLET
l] 'II. I'Il.t

1'I..I‘i."l.. ELTAA
]]11‘|I'Il'lll[lll.: 1

L
L

T1IYIIRLLY
(AERER NG
TELEEITEL LN
RS EREERN AR
| |..]j1il

1 1LY
R
'II"I'I'I;II!I!I.I
T1tEaE iy

|11.r>t|l
111 |
SR RAS

!




------------

LY
T

HHHHH

-----
lllll

HHHHH

e ..u.___.n.. : : =
i S

11111 T -

a £ - - > - = e ’ AL ..lll .11: .ﬁ“.—“u &

Moy ﬁ._a : : =% T ———— = . A g ! : - ”.“.”..H.”.“.“,...w..w..”..”””n““h...“.._.r..”..“_,.n”.hmm”....”......_.m....n” ‘.h.,ﬁ O R

LIRS .
EN T R R N LY L) u. ._--_.. it -_._....___-..._..h._.....h;. — ‘.

i
|
F
I
f
I
f
F i
f
|
i
F
.q_.
f
f
.....
..... BEEEEEE AR
......... v
' LN N
_ s L

f L) - i EEC LN

Y B e e M, E - kSR R " = =] \ X "W "5k R KR s

') - -I.III - - .- 1 -Il . = . " L I- r 4 A

i ™ 3 .I-I.I-.-L ..- L = LR h
f ! d 1 - - r ’ A = " s

.
AE e A Ak - E
[ER LR L ]

R
" [}

§
L
I
%
1
.....-.-...rlt....l.l e . - p—— J 1 g . Fip ”. ..._ 1
o e i i b
|
i
%

e ek, e

-,
.

e

i

g

I i I GO, ST A R S

"
\
i?_i“ I [I.'-'

T
|
- :
A
i

A

- ...-
L]

o e : 4
N = r .
N il g
Y N - ﬁ
] 1

.

'
g
iy

e,

o
g

IS

o AR A AN

o
e

Fl

il

A A RBIIT IS T

Calr

s




e e g e e g

g r i b i i E K T wodod i b Lk T
....... i b - = L i S——

s

gy S o g
LI =N
E.l.l. - § FTE

L L L

i gl gl gt w | M W

CERET
e

P

i L . ' i .ﬂlh...__..____._..
e £
_”up_w_”_‘.m. .h.%”__mw%_ﬁ__ __u_h..ﬁw"._.h_uh .F..H.F..h.....H..._u”_d....mm_.__.___..._....,.... e

B i —r— -
.__,.-._H__,....-_. B J L i i : " . A R I A
; e Fom

-----

L

_".'l:l':lll

lll"

..,.. .....”. .__.._.-_._. W\m_.. Ly ; ! .. " = - ... .”. - ..
.-".”.u_ﬂ_._. , _J_\M;-v-uﬁ-._NIM_.rm.-mk i .... " - . - --.”.. = ” ” L ..-- . ---” - ..- .” -

ATt A
e
o _."u..._
R S
s | B T S B

\%ﬁ i %ﬁ.ﬁﬂ@%
i i

i, .
_M"....__..._.. A

. R TR : ; et
£ £ m\“ ..ﬂ“.v T R R
. %\a\%&ﬁ&hﬂ: S
e R e
g SR ..1............ Ful EaFad ol 5l
L7 u._...___. ha_‘...,..._“.__...._...,.. i .....ﬂ.,...”....__....-....".....__.......
i ..._-n_..ﬁ.-.....sr_l._..._....-..... ﬁ-‘..._..._. i -”ﬂ.._ .... :
| -H.-Tﬁ‘\—‘“ﬂ“‘-\-‘!—
Sl

E .._._“_wq
A




L E]

N — — =
- r—
—— =

P}Hhﬁq

B
W

IH"._..-.-I-
L -
&
[ ol
.
]
]

-

_—..
L U

75 b

[
E
.
.

STOP 43040

]

=

Bl '|: &

o AR Ve e v e s

¢ #ivTa ar

ey
=
e

L

] Wb

VAR F ISR S iy
o N |

et

y .

A X ' '

Y rITIY '8 s N
(s J A i BANS R T LT N

o
3
k]
=

=
=

-
L 3

LT SR
.

] 5 ’ £
TV W s TR MYoes

L § AR B

o
™
=

- W
'I._l
&

|

LE T
e

i
5‘

|
™

i‘

ese

Ll T T T T e
s BT K LA
fENAEREEREE -

st 8 LI I I P RN T LY
e L TR LTI LE -.n-':-'.-':-‘:-.i'i"l' ;
FPARAAS Fgabdd s uaa .
k] FITETYTY
L N R Y
L T

o
i RN T TR
A I T YT I i
a4
] [

'r‘tr ‘.l n
e ol gl ol
T L T
u




. _—
et
Sy = -
w i =
o ...nn..:...lu.i-l.l-

o g
P o
._.__..._..n.q..l. g

_.11_....L| ' - -

- ‘I

- —
-
=

i l-\-

I-llill
l’

AR
*—.

B . ..“_...
5 .ﬁ@ﬁm&%ﬁ&

s

¥
" J.fw.._
' A
—_. ¥ i i
.._._. ¥
.

- Fre
b .“_..q_._....._. 4
y _“___, q_.._.""..-.. |
FRRE
1 A e
m. & .w_
o _w...\__..r : 3
b
o .

e
L

s
|
L

e
e
.-;-_E-.-!.-m 4

e

e

ey
=

A
A Bl a'y
o i .-__.,. i Lha ATETTY T RY |
M S 10 iR K

P4 T P
fasitin

e

LA LI LI
; ESS e,
. :

¥

Yy

i

=4,
]

e =
R S

ey i

4 TLL]
1 ,._ _
e
# e
i '

u S

ploto b b ok b b LA L L L] 5

L F N & L
LI IIXLL

r..

e
IIIYTLY

& 8 8 E kK H

¥
.

i
- =
Feetky i
i —.F ¥
3 el
............h“..._._..n.n ."......L_ : #
J;H“_..__ﬂ._.m,.p_._.._""...._ﬂ T i
b it
Hiti

-
1
p | - I
.-.-.u..‘llllll ll
.
i
¥
s
LY
ET
e Y |
1]
I
-
]
|}
i
S
1 - ]
i :
o
XL _....Fnrr.f O
i i 1T Jrf..r
- 1 - ¥
LE
o LI
T TR
T L 8
A
3
i
] i
iy .rh... &
i ._.._,...,.
m i k1
e, b Bk
s LI
e
R a
i
i |
.
i
i
i
-
n.-.

=

i
4
18 8
_.u. "
i\
| E
Y
. 1 J - y F'P
i n
ol
-
H.u....r
Y .
e
K i_....
5
*r
| It
d — T =
(] hony .-..__ I-r||Lh~“|.. ! r
LSRR Ol
dt e
B I
R 2
s
s
P o Gl ! . /
%h.”. N &
.:__-ﬁ".. o : .I_
o O £ _
o ' il ; .
ool h_ m
L_:_r i R ;
1 ] | % H ]
-_ __..l ] h |
||
5 i ;
_ HE !
L : :
: * f 41ke “
2 b f H
A
&
i
£y
)
"
P _
o
ol
L
i
'
¥
e
h ¥
1 -
)
&
b
__.__.
-h-—

=

i

T
¥ 4

P

~ W,

-
e

e

_

bl

i

P

: et
—

H"'*.-r



g

. g q . .
ok : >0 i
b ﬂi.ur Rt ol ~ .
-
o ....‘.
.tll- ] pet '
-, e
i
u___.__ .J....r i *
_ W _ Wil ..ﬂ-__m. ’ v

s . .

e L - e
| e = - et S Ay
- s i - .1..._...1]“ - L i o
B il ...I.Il-.. =
-
5 .
1
» J i r r b 1
o N W g e “...-__1_.__........... i - AN T
JE R ey i T A I i e ; . %
R N e e R J - = oy ¥ A i T i d e = - ’ .
- -_._.__n._.._n.._ -_._.1_-1..1_.-1._1_.- - K . : L . i - i i P i _— . - y
o g F o i T K f 3 Ty r 3T LE i i s ot T = - 0
i D g ] F I 3 - 1 - . = 5 i i ¥ r M g o 1 i
R o ] : : LT . Lx e ! i i
.__._n.._hqq._.... FETT A ¥ s : ! - - I ! . &
I ] ._".u.qs-".t._. q-,.q_.._q-_.._.u.q_. I I . ' . ¥
LA g d 5 v )
L e plolel e =S LT - ' ;
...n..__q..,.-..”..._..._.__ 1.u_... d L = i L AL * ! , 1 L : ' i
e ¥l = ] " =y i
L, r O R e s = . ¥ “ - i i
AL I g L I r § L 5
1 | r il o
Bt gt F KA i i - . i ) 4
e - 4 SNk WXL 1 i i i i A L
- 1 i .
....._.. Ly o i B A I s A
X Y y LN L =L £ a L i i - i |
1..__. il g N T ' T s = T Fe. ¥ o v i ; . ’ i
.1” .....L...-_.........Lu. e i ._........... ik L. N . . ¥
I N J
I o e - » i 1 i i | 1 i
i ] T oo A I & & r
i § ¥ - & k )
] L i d
-a_n...- J = - i i ] i
T il T [ Al d i A . " .
1 P g ! ; § =gy
5 v i - i i
e 3 3 ; ' s .
i b IS )
. T . i v e .
P, a (] Y i ik i i "
| [ 3 x i
Bycs At T - é Wi & | [ i .
. e i i
ks I L. '} L} i LE - d ¥ il
- - i i i i ;
g o @ e L i i y Ed
o '} i . F! o 4 [ 1 i i r
e ; 5 Tty - i_T i i T ;
R rs i L ¥ * K §
AR e e K i i
r 3
5 T i i 1 T y
_ i i I o [; L i i . L
1 V R T 4 d i i
ald : F i i i C ' £ .
i iE i i il i i '
N P i L
. B i [N} i by ¢
I ' ¥ (" g 1
i i 1 1
¥ i e i i ] 4 ¥
1 s 1 1
. I d '} - r i -L- L
A d ¥ . ! - - '} L} ']
¥ r L L 1 L] 1} Ld
1 i i_§ 7
-- A 1 L} I '} .- ¥ 1 L i r 1
= e ' " o R ' i ' "
i & i Il i g
- [ o 1 (W | r i I F
e . i .
S FA i " .
. : : A 7 T 1 T 1 1 1}
= ' iy .
g ¥ 1 i . -. L. i - ¥ L
E A ! V' L ¥ i % T 3
.-- 1 i L - 1 -. 1 1 i 1 1 L
-.. ] F .- 1 1} = L} d r
w'n c i i v i ¥ . .
i ) N i i '
ol i £ ik FFR A {0 i i ¥
[* 3k i | I W ER A 1 = 1
" i
'
L .-. i i
(| s = - i
BF I i v o
Ak i A i
I +u e
| i i o . o
T e I i
- iR i8N s g
o R I 1]
z T . Fap R 1 i
o Ll ) (! id
|
B
L]
1
Ay
Ty s
" i
-
i
—n
i
A =
LT -
- - IE i
e e N e 7 e e
- - N - - - - e T el e s e i
s e S Ry B e et FEEESIF RIS ESEESSEE NS EYN
. el I R A T Y P o T S L 3 LEL "
LTk L LT T e
HE T LTE 2 Bl X T
1 i E -1_.u_._._..._-._ I FI TR R ESE YT
& AL LA LETLY, X
e e o ._...1_1..
- -n i I i
T i i
i e i st B T T (i T el T ar it
SR iR A o L e T i e
e L gl il . Y
=
e b e ol e o
- - -
i e s et b -l - el bl el
= i
m Lyt e -
e i L e e i e e e
I B
&
~
o A i Rl
byl gty o ey ey
T 1 I
bk ol
- - 1:.”,_“..111...1...-._......1._1..[.... rrrl SR EA LSRR E
N e e e e b e e e ey e ) e i
S N o N S A A b= s fa La, R e e i e
bt 2 ba l B L 5 L Al boks = LA LA b
A e S &
TIE S LT TEY T I Ly
B T e e o i °
e e S = b g e b b i T T mT e i
P e B e B T e o T L
e o et S L L Wt et s e el i -
e B e e I el iy & % 0 o
L il - i - e ol e ol B ol | il L
Y iy
T . e B Mg e o g M s o S B B i oo e
A LT T Y LT L] e o T g ey g gl o o g o oo e o el
B Ay S i
B i e T L s 3 T e e T e e - T A .
e S T R
S i B A . -
..r_|11.,._.,LL._..,.r_.._ i ek e
b Ly e g = s,
Py s et ety
e bt g o g gl Bogslope g B S5 B o o W e i S g iy
e e —— ] e i - gt
" N Al - - e 5 ol - el -
+ T
.
§
r R L ol e e e e T
L e ad m b bon S Lo DL
SELELESEd AN ET. b LT LT LT K
T ES .JJ.._....1|_.___J.. I .-.-.-...J.r...._...
S g e o e s =y R Ty g e g i Pt S
i Tt e e i e e e e
o e g e, e e
e g e e e e e, ey el —— +" =
o e e e T —
A A i Lo s it e L e St S
LA AR A LA L LIL, .,.I...m._..,........_.....l..-_rj..nl__..,. bl o e B e
A =y Sy Sy D et e Ly g by e et
i = o o g B Py P e g e e o gy e i e L i i e T e -
. . A A= = A
- B T R e i
e e e T I e S e o e ——
- R T o IR R I A I R N A A e A e
3 L...,.._I-Jr__-..r...l.....,.__.....l.l. ...:....n....r_... e b L L it il T
3 ) K g gt g g s e o b et B e e e e g i i b B, g iy ety i e e g i B g e b b
k 2y g e T S T o e el N e S e N
h i - ok HH - .
i, o e A i g o o e, o, -
i
et el Tyt e e e e Mo T g et e
A &, P - F - AP -
SIS - A B S S S S
- -.:_F._.._r_r..r_..,...;....q._..fJ..._|.r-.J_..rr ST TR R O
Bk g b b e b b e e e b ity e B g P i eyt M i, Wi iy, e kL n,
e - =i - = - N e
e e b B e e e e B, i B R e ot B ol ol g bt s g
. e .r.......-_.......l..-rj_....-._.lr.......l.._rr. M R i Pl T
- . & e i & o g i o AL Rk dR g E RS
5 D T T e e T e i o
e ot B I o L T o e e o e e e e o i SR T W iy o
& - L A T R - e A e A N A T
i Reaohon b b o d o bl on b ko bhoh ok i &
A e e e L o e e
- T N N S e NS e,
Bt ok L' H T R W e A §
e T e Tt P T e
A e L = o
bbb e b AL b b s Rk haa s an b lo b s a bbb a B bk dntxahbiddsiib -
ey i e e i i oy e B B e e e b B e o =
N L b -
skt nd b b b b hod Lo d foa bk dmma bk bon o bibnsnih b - o
FadpistaTErA R RFASRAGE R R mAFs R FAREAU S BRSSO B T ol
' ETEEFEERE S RIS TSR GFE TS RIS RS TTHEER S SRS T ESTdaTaE B e - .
1 L L e L o ot ot o o ot e Tl et et o -
S e N S S . d i a b,
F o O O O 0 T e e el T - e e e .. b
o o, bl e i A e A e e = .
el L R e L R A L L L L L LR A
yr - e - . - e R L T I I e e Ty - e T e P e B =y L
- - e &, Loa et by
D e o o o o o e M oo e e
. e o e e o i o S Sy Lo o S o o Sl o S Eorar el e e i et i U 1 N AU A Wi MR A 1
.| e o b i 5 g e oy ki oo s oyt gl BBt o ittt e e e s o
i
. o L
i O T T S R e
L o, e
=y Syl o O A L
N e S A T - e
3 e
bk, R e e e e S e B B Lod bk b b L d e e A R A E b b e ok =
i e e e ey L Lol
0 e
> e STy
._.!r...-._... e + =,
Rk hon ROk e ko kok bl __...._._..,_.... - i
- R
L ;J..H_.w?};.&.,ﬂu.u.& J..,...v.., Aokt
i oy il
s L . =
= = R e
e Lo by, [ =
a8, L b e, iy
J_r.__.. E e
b b A
I -
x
Al i kol 12 R .-F.-..F..f L 4, 5 lrr
| L a Bl AR LT R -
.

- i, r.uH..... ..-...,Un. e
e By ___ur__rr....,. r_...r.._.....r.r..,. ...r..r..-. LR
o ,;ﬁﬂw : ,,ﬂ;ﬁﬁiﬁwwﬁ;ﬁ,ﬁ?.rm,.,._..,mmf AR
mﬂu L
- -,._.._

g e l_...r. L | iy
[ - £ ._..:H-__.wt.....r. ..._.._r __._r. |._.r Ry
RS
..f:__...... by g bl e L LTI
R H_.Hnmwwwfﬁwﬁmmuﬁﬁﬁﬁ R
e s e R .ﬁuwr.nﬂ; ERTAROSY
O RN
AL A R SOy R
0o .,wwm .f,.ﬂ”riﬁw.ri;{m...uu”u.,mﬁr ”n_.,.Hﬁ,_.u.f .m.m.uf L
iy, - u.._ . L By
e
% .- b L R a, .y LLELLLALLE
i e U TN S

bk,

.
ke Ayl my By

[ e ==
A
RO

...._.___.J......f..ru.._.....r.

e e

iy

- e ey g By o g oy o - - o et rb.ﬂﬂﬂlrﬂ_.-..
OOy ,ﬂﬁi R T O SRR
[ . rnfnﬂ..._..;rn.rn..r by LN J:ﬁﬁ»ﬁdipﬂu?%ﬁ _f.”._r.rr g
;ﬂ....hpmnn._...ﬁ.(r L L L L L L T A L LR L L R L LA L L L L L L L LI,
o A e e trr.:.r*#;.__..wq..._aru.pu:uwﬂwuf. " .._..._.U....n.w.......r...... e e e s
AL e e i Sy ey YN T T Y T e

i e e i .__r-....___.._..........._...r.r.._..r.r....._.q..r._r gy g gy b by iy iy
CHCHR USRS -

e

JEA—— - e
Fy sERANALEARNEEELLARAS RS DL ARLL LRI LT L I LT
ot Tk .._.J._.FHFI e Ll -y e LKl ol . Lrﬁnxj...ﬂ.r.r._..rr.ru..rr.fr
i - = ..l-.._..__....__...-.._-.._..-.__.“......___ i, B e g gy - R
- o e e bk -

EA A .rJ.._..._...._........_...._r._.._..—...n...._.........r aHHUaHHr _.....r.....-....,r._. FEIIYTITY v
S L T ot

g g g oy Py By
b, e by e 0 s
r.,___ J_.. . oy - _,u.f_,....._.ruﬂ.._..__.,__....a_... g - .rrlH-WhﬂH-ruﬂMnlnmu .-
HH..._ : nﬁ...__fn_"._.._r_} I -
. ..H._..-.. - . u.l.|.._.-.._t|.._..-._.-._..._....._ b e e e | ”._. T
&, & . s,

.__.._._-.-l.r._.__...l.fl-arf-
R L A L L L X LT LTI

L - - Sy
R e » Ry - - - = ..r.._-..._lH.-r-.fffl._f
T g g e Il S
e e Iﬁ%—

g e g g o e
A - 5 .o — [
e B T Sy e
- - R —— -y iy b oy by e
Ay b b & Fa— = - i
- = e - | ECh -
- g . e
e . gy mens e s i i
- oy . A = o e
. . . =
L, 1. .
" e - " e R
LS A [ e ' S Sty
* -~ S - ! = - l..j.?.........:..._.._....-..j.l..__.
I ._H. . 58 5 - - iy R S g Sy g i St .
ke n i .r_._.._u....__... . ..__.._.._p.ji.._...l...__r..__..._._...._i
LY
F . o gy e
e, o Y P e : o T s
y o
y 8 -k o e 3 e by -
i, .__.._.. & - . . - ........_.._.._.-......_.J.... L ety
L1 iy ..HH--.._J.L. - - : a LS IFJ}!JJJUHJ_.
i e e . Ty B e e g, B Iy
¥ Y . L “EmhanE Sy A b
e i e W e -
Lo gy gy i, ey g iy B i
. LI ’ . Arhlobyarhy by btkely &y drhririrbriet
i ek by B e b ]
- et L ek L AL LI L LI L L LA EL S
h._ i 1 Y 1 Ay T g e, iy
: & # I o L. . o LR a - i
&, \w . R !..._.:l.r..!..._l-.t..f}-..rﬂ._-f-al.
o 5y W =
vew Aol b i i, : a fafiahpinheriay s i i W
e b e by
B Ly ; g iy e B B o e
BEEETAES
¥ . £ ﬁﬁiirrrfi
h_p 'Y .....P I - : e, T g g i i i i
¥ i adll Aol Ay e e By f__.._r_n__n. ...._......n,r..r...__..........t..-__..___._r..____. -
& ..-_..h.u. 'y 'y - e _.___p F r-..r-........t....ﬁj.t-...-..rlnﬂll..r.rl..l. ﬁ-...rl.r.-r__..
i T ;s Ak i = -
'y Pt e Ay et o e R,
.h_._ i ...___.. . .“.._.___._. ..._3._._...._..-..._......._.._..-._,. ....____.r.-.._..r_....._.”._....-_ ...r...n...-_—_..j._r..r._._._ M_J..r
L P - o Ll ...n....._r j..ﬁl-. L FU..._.-. =
el F L U P
|

e ———
—_‘. o

il
.__._.__,-pv-lrll



	RFP 2020-04 Bus Stop Shelters and Amenities Addendum No. 1.pdf (p.1-4)
	Addendum No 1 - Drawings.pdf (p.5-16)
	10074-00 2D.pdf (p.1)
	10075-00 2D.pdf (p.2)
	10075-01 2D 10' Pacific.pdf (p.3)
	Adelanto.pdf (p.4)
	Apple Valley.pdf (p.5)
	BAR STATE ST 3.pdf (p.6)
	BAR2.pdf (p.7)
	COVV.pdf (p.8)
	HES5.pdf (p.9)
	Phelen 2.pdf (p.10)
	Silver lakes.pdf (p.11)
	VV (3).pdf (p.12)


